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A very popular and straightforward question, well-answered by most candidates. Almost all
candidates were able to complete the proof and calculate the number of stages. Candidates
began to struggle a little more with the velocity diagrams. When calculating the stage
efficiencies, the most common mistake was to use the overall work output and an Euler work
equation approach which often led to errors. The candidates who spotted that they had already
calculated the stage-loading coefficient s for each design in the previous part of the question
found it much easier.
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Anether very popular questlon Almost all candldates tackled the first part very well
calculating the correct exit Mach number from the tables in the Databook. However many
were not able to manipulate the pressure ratios. Part ¢) was well answered. For this section the
answers were given and the candidates had to show their methodology. However there were
almost no successful attempts to the next part. In this case they had to find the absolute exit
flow angle. This time the answer was not given - but the calculation itself was no
complicated.
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